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a) True. All numbers are divisible by | and themselves and therefore would have a factor of 1.

b) False. & factor is a number that multiplies with another number to create a product.
If a number is a multiple of another number, then it is also a factor.

c) False. 8 only has four factors - 1, 8, 2 and 4.
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120 and 2 8 and 30 40 and 60 10 and 24

40 and 60 are the odd ones out. They are a factor pair for the product 2400, while the others are all factor pairs for the
product 240.
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Factors of 13:
1,2,3,6,9,13

Factors of 20
1,2,4,5,10,20
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